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Chemical Name _ S 2F(%)
(SIREZSH2AFMOZ)  Service No.
1 |Glycerine =clAlel 56-81-5 18-25
2 |Distiled water M= 7732-18-5 15-23
3 |Sodium stearate ASAHIOMHIOIE 822-16-2 10-18
4 |Sodium palmitate A2 Z0|HIOIE 408-35-5 8-18
5 [Sodium laurate A2 &ctRd0lE 629-25-4 8-18
6 |Propylen Glycol TzddlZ20|2 57-55-6 7-15
7 |Sodium Laureth Sulfate AS2KXAAEHOIE 9004-82-4 7-15
8 |Sorbitol EHIE 50-70-4 7-15




9 |Sucrose TOAZ2LA 57-50-1 5-10
10 |Sodium Lauryl Sulfate | AG2ISXEAHOIE 151-21-3 5-10
11|Decy| glucoside(APG) HAZ=FIA0E 68515-73-1 1-5
12 |Cocos Nucifera Oil DRI Y 68991-68-4 1-5
13 [Sodium Hyaluronate 2850|022 UI01E 9067-32-7 MAX 3
14 |Potassium Palmitate LEISZEOHOIE 2624-31-9 MAX 3
15 |Potassium Laurate ZEtscetRd0E 10124-65-9 MAX 3
16 |Potassium Stearate HEIsAHIOHIOIE 593-29-3 MAX 3
17 |Stearic Acid AHIOFEH M E 57-11-4 MAX 3
18|E. D. T. A-2Na CtOl A &OICIEI0f O] 139-33-3 MAX 0.1
19 |Sodium Benzoate ** ASHITUO0IE 532-32-1 MAX 0.1
F AAE olE @ HEAE ATHOEE A BoA Gy

x* Sodium Benzoate(AFH Zo|E)= 829 TF5IAY.
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